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4‘ Multiples and Factors

We'll cover the following key points:
- Multiples - Even and Odd Numbers
- Properties of Multiples - Prime Factorisation
- Factors - Highest Common Factor (HCF)
- Divisibility Rules - Lowest Common Multiple
- Prime and Composite (LCM)
Numbers - Problems on HCF and LCM
\

Do you Remember fundamental concept in previous class.
In class 4" we learnt

- Multiples - Lowest Common Multiple (LCM)

EeeBee
- Factors - Prime Factorisation
- Prime and Composite Numbers - Problems on HCF and LCM | (@ still curious?
> Highest Common Factor (HCF) TaLkC;?"';?rfgby
\_ the QR code.

Learning Outcomes N

By the end of this chapter, students will be able to:
e Understand the concepts of multiples and factors of a number.
« Differentiate between multiples and factors.
* ldentify factors and multiples of a given number.
e Determine whetheragiven numberisamultiple or factor of another number.
» Recognize and list prime and composite numbers.
e Understand and apply divisibility rulesfor 2,3, 5,9, and 10.

¢ Find the Highest Common Factor (HCF) and Least Common Multiple (LCM) of two or
more numbers.

 Solve real-life problems using multiples and factors, including word problems.
» Apply knowledge of multiples and factors to simplify fractions and solve problems

related tothem.
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Choose the best answer.

1. Whatisafactor?

(a) Anumbermultiplied by another number to find a product.

(b) The product of agiven whole number and another whole number.

(c) Thegreatestfactorthattwo or more numbers haveincommon.

(d) Thesmallest numbersthatisa multiple of two or more numbers.

2. Whatisamultiple?

(a) Anumbermultiplied by another number to find a product.

(b) The product of agiven whole numberand another whole number.

(c) Thegreatestfactorthattwo or more numbers havein common.

(d) Thesmallest numbers thatisa multiple of two or more numbers.

3. Whatarethefactorsof12?

(@) 1,2,6,12 (b) 1,2,3,6,12

(c) 12,24,36,48,60 (d) 1,2,3,4,6,12

4. Whatare the multiples of 8?

(@) 1,2,4,8 (b) 8,16,24,36,45

(c) 8,16,24,36,40 (d) 8,16,24,32,40

5. Which of the followingis a prime number?
(a) 3 (b) 6
(c) 9 (d) 12

6. Which of the followingis acomposite number?

(a) 1 (b) 3
(c) 9 (d) 11
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Multiples

Let us revise the multiplication table of 5.

5multipliedby1=5 — 5x1=5 5 multiplied by 6=30 — 5x6=30
5multipliedby2=10 — 5x2=10 5 multiplied by 7=35 — 5x7=35
5multipliedby3=15 — 5x3=15 5 multiplied by 8=40 —  5x8=40
5multipliedby4=20 — 5x4=20 5 multiplied by 9=45 — 5x9=45
5multipliedby5=25 —» 5x5=25 5multipliedby10=50 —+ 5x10=50

The numbers5, 10, 15, 20,....... are obtained on multiplying5by 1,2,3,5,4,..... respectively.
The numbers5,10,15,20,....... are called the multiples of 5.
Similarly,  Multiplesof8: 8,16,24,32,40,........

Multiplesof10: 10, 20, 30, 40, 50, .........

Multiplesof15: 15, 30,45,60, 75, ........

If we multiplyanumberby1,2,3,4,...... , we get the multiple of that number.

Properties of Multiples
» Everynumberisamultiple of 1and a multiple of itself.
»  Thesmallest (first) multiple of a numberis the numberitself.
» Everymultiple ofanumberis equalto or greater thanthe number.
» Themultiplesofanumberare endless. Thus, thereis no greatest multiple of a number.

» The multiples of 2 are called even numbers and the numbers which are not multiples of 2 are
called odd numbers.

REMEMBER ¥

The multiples of even numbers are always even. The multiples of odd numbers can be either
odd oreven.

Finding multiples

To find the multiples of anumber, multiplyitby 1, 2,3,4and soon.

@



Examplel: Findthefirstfive Example2: Findthefirstsix

multiples of 5. even multiples of 4

Solution: 5x1=5, 5x2= 10, Solution: 4x2 =8, 4x4 =16,
5x3= 15, 5x4= 20, 4x6 =24, 4x8 =32,
5x5= 25 4x10=40
Thus, first five multiples Thus, first six even multiples
of5are5,10, 15,20and 25. of4are8,16,24,32,40and 48.

Example3: Findthe firstfour odd multiplesof7.
7x1=7, 7x3=21, 7x5=35, 7x7=49
Thus, first four odd multiplesof 7are 7, 21, 35 and 49.

6x8=48
48 isamultipleof 6and 8 6 and 8 are the factors of 48

[2x5x7=70]

70isamultipleof2,5and 7 2,5and 7 arethe factorsof 70

Similarly, 8,9 are the factors of 72, because 8 x9=72

Factors

2,3,5arethefactors of 30, because 2 x3x5=30.

When we multiply any two or more numbers, we get a product. The product is a multiple of each of
the numbers multiplied and each numberis a factor of the product.

Properties of Factors

» lisafactorofallnumbers.

» listhesmallestfactorofanumber.

» Anumberisafactor of itself.

» Anumberitselfis the greatest factor of itself.

» Thefactorofanumberissmallerthanorequaltothe number.
» Everynumber has atleast two factors, thatis, 1 anditself.

The number 1isan exception.
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Finding factors

Example4: Is5afactorof75? Example5: Writeallthefactorsof12.
15 Factors of 12
Si 75 1 x 12
~5
2 x6
25
-25 v 3 x4
0
Thus, the factorsof 12 are
Thus, yes, 5is afactorof 75 1,2,3,4,6and 12.
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ili inthe blanks:

1 isafactorof allnumbers.

2. Thesmallestfactorof14is

3. 6isafactorof18as18canbedivided by exactly.
4. Allnumbersexcept 1 have at least factors.

Divisibility Rules

Divisibility rules help you to find if a number is completely divisible by another number, without
actually dividing.

8 5
Forexample.
9i 72 6i 35
-72 -30
0 5
72isdivisible by 9 35isnotdivisible by 6
sinceremainderis 0. sinceremainderisnotO.
Test of
Divisibility Condition Example
by
2 Anumberisdivisible by 2, ifits last 1442,1980, 1560, 396 etc.
digitisevenorO. aredivisible by 2.
3 A numberisdivisible by 3, ifthe sum In3540:3+5+4+0=12
of its digits is divisible by 3. whichis divisible by 3.
8262:alsodivisible by 3.




4. Anumberisdivisible by 4 if the 79812,864,5068,1234596
number formed by its last two digits etc.
is multiple of 4; (or divisible by 4)

5 Anumberisdivisible by 5, if the digit 3450,12345,567890,
atitsunitplaceiseither5or0. 99995 etc.

6 Anumberisdivisible by 6, if the 750,7710,5922,
numberisdivisible by 2and 3. 60606, 11514 etc.

7 Anumberisdivisible by 7 if the 2975,1617,392,889
difference between twice the last Consider 889, Last digit=9
digitand the number formed by other Now 88-18=70Hence 889
digitsis either 0 oramultiple of 7. is divisible by 7.

8 Anumberisdivisible by 8if the 989232 (the number232is
number formed by its last three divisible by 8).
digitsis divisible by 8. 1839608,1804264,1516024 etc.

9 Anumberisdivisible by 9, if the 9801,50436, 123453,
sum of its digitsis divisible by 9. 91917, etc.

10 Anumberisdivisible by 10, if the last 990, 15340, 63990,
digit (i.e. the digit at unit's place) is 0. 101020 etc.

11 Anumberisdivisibleby 11, if the 7931: 7+3=10
difference between the sums of its 9+1=10
alternate digitsis 0 or amultiple Since, 10-10=0
of 11. .. 7931isdivisible by 11.

27896,135795,
1086294,1111110etc.

(a)
(b)
(c)
(d)

(a)

Exercise 4.1

1.  Writethe next four multiples:

Knowledge Application

9,18,27,36, ; ,

12,24,36,48, ; , )
23,46,69,92, ) , ,
19, 38,57, 76, ; , ,

27

Write the first five multiples of the following numbers:

(b) 17 (c) 16

@

(d) 39 (e) 43




3. Listallthefactors of each of the following :
(@) 18 (b) 28 (c) 21 (d) 36
4. Putatick(v')ifthe numberis divisible and a cross (%) ifitis not divisible.
Number Divisible by
3 6 7 8 9 10 11
(a) 12 v v x x x x x
(b) 93584
(c)25712
(d) 24934
(e) 32868
5. Write the missingfactor.
(@) 7x =63 (b) =26 ()  x15=45
(d  x6=54 ()  x8=80 (f) 9x3=

Prime and Composite Numbers

Aman has written all the factors of the numbers from 1to 15inthe table on the left.

Help him colour the boxes to show the factorsin the number grid on the right.

FACTORS

NUMBER FACTORS
1 1
2 1,2
3 1,3
4 1,2,4
5 1,5
6 1,2,3,6
7 1,7
8 1,2,4,8
9 1,3,9
10 1,2,5,10
11 1,11
12 1,2,3,4,6,12
13 1,13
14 1,2,7,14
15 1,3,5,15
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Number with only two factors, thatis, 1 and the number itself are called prime numbers. Numbers
with three or more factors are called composite numbers.

We observe that
» Thenumber1hasonlyonefactor, thatis, 1.
» 2hastwofactors, thatis, 1and 2.

» 6hasfourfactors, thatis, 1,2,3and®6.

Mental Math )

1. Writethe numbersthat have only 2 factors

(1and the number itself).

2. Writethe numbersthat have 3 or more factors.

The number lisunique. It has only one factor, that s, 1. So, 1 is neither prime nor composite.

Prime numbers between1and 100

About 230 BC, a Greek Mathematician, Eratosthenes, developed a method of finding prime
numbers. This method is called the Sieve of Eratosthenes.

Look at this number grid.

» Crossoutl. X@@X@X@X A |
» Leave2asitisprime. Crossoutall the @ M @ i @ 2 @ 2 2
other even numbers. p @ 2128 | 26 | X | R 3
» Leave3asitisprime. Cross outall the @ 30 |38 |34 38| 36 @ 3€ | 39 | 29
other multiples of 3.
» Leave 5. Cross out all the other e M| |2 | 2| X
multiples of 5. 5 | 52 @ 54| 58 | 56 | 57 | 5€ 2]
p Leav? 7. Cross out all the other 57 | 63 | 64 | B8 | B] 88 | 89 | 24
4 :UIIUpIIT:hO”. b hich are left @ ? @ alBal Palbalbe %
| | B | 32 |(83)| 34 | B8 | 36 | B7 | 34 |(89)| 24
» Find out how many left numbers are
not crossed out. N || % | 4| 88| %% 9¢ | 59 | 180
@



Inall, odd numbers are not crossed out. These are prime numbers.

The prime numbersinthe firstroware2,3,5and 7.
Even and Odd Numbers
Every even composite number can be expressed as the sum of two prime numbers.
A number whichisamultiple of 2is called an even number.

A number which is not multiple of 2 is called an odd number. In other words, odd numbers are not
exactly divisible by 2.

Even composite number Sum of two prime numbers

4 2+2

6 343 2 is the only even prime
number.

8 5+3

Express the following even composite numbers as the sum of two prime numbers.

1. 10= + 2. 12= +
3. 14= + 4. 28= +
5. 32= + 6. 36= +

Prime Factorisation

All composite numbers can be expressed as a product of their prime factors.

12 20 27
£} £ £3
X X X
A A A
2x3 2x5 3x3
12=2x2x3 20=2x2x5 27=3x3x3
Composite numbers: 12 20 27
Prime factors: 2,2,3 2,2,5 3,3,3

Afactorisation having each factor as prime s called the prime factorisation of the number.

Prime Factoristion Method
Factorisation by Division method

Example: Findthe prime factorisation of 56 by the division method.

Solution: Write 56 asshown. *‘i



Steps

2| 56

2 [ 28 1. Divide56bythesmallest primefactori.e.2. 56 + 2 = 28 (Write
z—ﬂ 28 as quotient below line as shown)

7__7 2. Divide 28 bythe smallest prime factori.e., 2 28+2=14

N 3. Divide 14 by the smallest primefactor14+2=7

4. Since,7isaprimenumber, nofurtherfactorisationis required.

Thus, the prime factorisation of 56is2x2x2 x 7.

Factorisation by factor-tree method

Example: Findthe prime factorisation of 48 using the factor-tree method.

Solution: Steps
1. We know that 48 is a composite number. Divide 48 by the smallest
48 prime factori.e. 2
N _
2 24 48 +2=24,S0, we get the pair 2 and 24.
N\
2 12 2. 24 is also a composite number. Divide it by the smallest prime
/N numberi.e., 2
2 6
2/\3 24+2=12.50,wegetthe pairof2and 12.

3. Similarly, 12 +2=6. We get the pairof2and6.
4. Again6+2=3.Wegetthe pairof prime numbers 2 and 3.

Therefore, the prime factorisation of 48 is 2 x 2 x 2 x 2 x3.

Experiential Learning

Find the prime factors using the prime factorisation method.
1. 42 2. 24 3. 36 4. 50 5. 63

6. 62 7. 81 8. 66 9. 65 10. 56

Highest Common Factor (HCF)

The HCF of two or more numbers is the greatest number that is a factor of the given numbers.
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Properties of Highest common factor
» The HCF of two or more numbers is their greatest common factor.
» The HCF of given numbers cannot be greater than the numbersthemselves.

» |f one number is a factor of another number, the smaller number is the HCF of the two
numbers.

Forexample,inthe caseof3and 15, 3isafactorof 15So,the HCFof3and 15is 3.

» If the HCF of two numbers is 1, they are called co-prime numbers. For example, the HCF of 13
and 19is1.So, 13 and 19 are co-prime numbers or co-primes.

» Consecutive numbers are always co-prime. For example, 4 and 5 are co-prime numbers and so
are9and 10.

How to obtained highest common factor?

Example8: FindtheHCFof12and18.
Thefactorsofl2arel, 2,3,4,6and 12
The factorsof18are 1, 2, 3,6,9and 18

Factorsof12: A 12
Factorsof 18: 9 18
The common factorsof12and 18 are 1, 2,3 and 6.
The highest common factor (HCF) of 12and 18is6.

Thus,HCFof12and 18=6
Checkifboth 12 and 18 are divisible by 6.

2 3
6) 12 6) 18
~12 ~138

0 0

12 and 18 are completely divisible by 6.
Finding the HCF factor method

Example9: Find the HCF of 8 and 20 using the factor method.

@



Factorsof 8 Factors of 20
1 x 8 1 x 20
l 2 X 4I 2 x 10
4 x 5
Factorsof8=1, 2,4, 8 Factorsof20=1, 2,4,5, 10, 20

Commonfactors=1,2,4 so,HCF=4

Therefore, the HCFof 8and 20is 4.

Prime factorisation method

Example10: Findthe HCFof18,27 and 33 usingthe prime factorisation method.

Let us find the prime factors of each number.

18 = 2x9 27 = 3x9 33 = 3x11
= 2x3x3 = 3x3x3
Thus,the HCFof 18,27 and 33 is 3.
Example11l: FindtheHCFof24,36and48.
Solution: Given numbersare 24,36 and 48.
First, factorise them as follows.
2|24 2|36 2148
2112 21|18 2124
2] 6 3] 9 2|12
3] 3 3] 3 2] 6
1 1 3] 3
1
24 = [2\x[2\x 2
36 = x 3
48 =12 x\2/x 2 x 2 X

The common factors of 24,36 and 48 are 2,2 and 3.
Hence, HCFof24,36and48=2x2x3=12.
Long division method

Example 12: Find the HCF of 375 and 825.
Solution:  Thesmallernumberis375.So, divide 825 by 375.

@



The remainder after the first division is 75. So in )
the second division, 75 is the divisor and 375 (i.e.
the first divisor) is the divided . After the second 37 5) 825

division, the remainderis o. the last divisor is 75. -750
Thus, 75isthe HCF of 375 and 825. 75 ) 37 5(5
HCF -375
Example 13: Find the HCF of 35 and 49 by the long division method. 0
35)49 (1 Stepl: Divide the bigger number (49) by the
-35 smaller number (35).
14) 35 (2 )
_og Step2: The remainder (14) becomes the new
VY14 2 divisor, and the previous divisor (35)
) L4 ( becomes the new dividend. Divide again.
0 Step3: ContinuetillyougettheremainderO.
Thus, the HCF of 35and 49is 7. Step4: Thelastdivisor(7)isthe HCF.

{ | Exercise 4.2

1. Findthe HCF by finding all the factors:
(@) 15,30 (b) 24,32,56 (c) 27,54 (d) 64,72,84
(e) 28,36 (f) 20,50,90 (g) 36,48,96 (h) 45,65,75

2. Findthe HCF using the prime factorisation method:

(a) 10,16 (b) 15,45 (c) 27,30 (d) 28,56
(e) 19,20 (f) 60,100 (g) 30,75 (h) 25,36

3. Findthe HCF using the long division method:

(a) 64and80 (b) 35and49 (c) 48and68 (d) 88and168

(e) 65and135 (f) 32and 128 (g) 78and98 (h) 644and1044
4. Findthe prime factorisation of the following numbers using factor tree method:

(@) 72 (b) 96 (c) 100 (d) 56

(e) 104 (f) 40 (g) 99

Lowest Common Multiple (LCM)




The lowest common multiple (LCM) of two or more numbers is the smallest multiple among all
their multiples that can be divided by those numbers without leaving aremainder.

Properties of LCM
» The LCM of two or more numbersis their smallest common multiple.
3 4
» The I_'CI\/I of two or rr!o're. numbers is the smallest number 8 24 6 24
that is completely divisible by each of the numbers. For _o4 _94
example, the LCM of 8 and 6 is 24. 24 is completely 0 0

divisible by 8 and 6.
» The LCM of two or more number cannot be less than the numbers themselves.
» Ifone numberisafactorofthe other, the greater numberisthe LCM.
» Forexample,inthe case of 3and 15, 3isafactor of 15.So, the LCM of 3and 15is 15.
Understanding LCM

Let us see the multiples of 2 and 3 on the numberline.

2T shre

o~1 2 73~4 5 76~.7 8 7910 11 13 14 715

v

Multiplesof2:2,4,6,8,10,12,14, ...... Common multiples of
Multiplesof3:3,6,9,12, 15, .............. ] 2and3areb,12,....
Amongthe common multiples, the smallest multipleis 6.

The LCM or lowest common multiple of 2and 3is 6.

Finding the LCM

Prime factorisation method

Example12: Findthe LCM of 28 and 30 using the prime factorisation method.

28 =2x14 30 = 2x15 STEP1: Writethe primefactors
=2x2x7 = 2x3x5 of 28 and 30.
28 =2x2x7 STEP2: Circlethecommon factors.
30 =2x3x5
LCM=2x2x3x5x7=420 STEP3: Multiply the common factors (only
once) and the factors that are not
common.



Thus, the LCM of 28 and 30is 420.
Example13: FindthelLCMof10,15and 18 bythe prime factorisation method.

10 = 2x5 15 = 3x5 18 = 2x9
= 2x3x3
10 = 2x5 15 = 5x3 18 = 2x3x3

LCM=2x5x3x3=90

Thus, The LCM of 10, 15and 18is 90.
Short division method
Thisisa quicker method for finding LCM.
Example14: FindthelLCMof8and12.

218 12 Step1l: Dividebythecommon primefactorandwritethequotient
)4 6 below the numbers. If a number cannot be divided exactly,
— copy the number.

212 3

3_ 1 3 Step2: Continue dividing by common prime factors writing the
1 1 guotient below the number.

Step3: Stopwhenthereisnocommon prime factor.

LCM=2x2x2x3=24

. 2| 12 16 24

Thus,the LCM of8and 12 is 24. >T 6 8 12
Example15: FindthelLCMof12,16and 24. 2| 3 4 6
2| 3 2 3

31 3 1 3

LCM=2x2x2x2x3=48 1 1 1

Thus,the LCM of 12,16and 24 is48.

{ | Exercise 4.3

1. Findthe LCM usingthe prime factorisation method:

(a) 42,70 (b) 15, 25,30 (c) 24,36 (d) 40,32
(e) 20,30,50 (f) 18,27 (g) 12,15,40 (h) 30,45,60
(i) 33,22,11 (j) 10,15,20 (k) 12,15
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2. Findthe LCM by the short division method:

(a) 35,70 (b) 72,32 (c) 21,14,35 (d) 27,54,63
(e) 20,65 (f) 30,55 (g) 10,15,25 (h) 11,24,33
(i) 9,27 (j) 12,20 (k) 14,16,8

Problems on HCF and LCM ey s

Take a Task | g

Example 16 : Find the lowest number which is exactly divisible by 15 and 26.

Solution:

Example 17:

Solution:

We find the LCM of 15 and 30 to

3115 2|20
get the required number. 5__5 2_%
We have, 15=3x5and20=2x2x5 __1 ZE
LCM of 15and 20 =2 x 2 x 3 x 5 = 60 1

Hence, 60 is the lowest number which is exactly divisible by 15 and 20

Two wires of length 18 m and 24 m each. The wires have to be cut into small pieces of
same length. What can be the maximum length of each piece ?

To find the maximum length of the piece, we find the HCF of 18 and 24.
Factorsof18=1,2,3,6,9,18

Factorsof24=1,2,3,4,6,8,12,24

The common factorsof 18and24=1,2,3,6

The HCFof 18 and 24 =6,

Therefore, the maximum length of each piece willbe 6 m.

Example 18 : Find the lowest number which when divided by 6,8, and 12 leaves 3 a remainder in

Solution:

each case.
2|6 218 212
33 2 (4 2| 6
1 22 2] 3
HE 1

We have6=2x3,8=2x2x2and 12 =2 x 2 x3,.
The LCM of 6,8 and 12is=2x2x2x3 =24
Now, the required number =24 +3 =27,

Hence, 27 is the lowest number which when divided by 6,8 and 12 leaves 3 as
remainder in each case.



{ | Exercise 4.4

Answer the following questions:

1.

2
3.
4

o

Find the highest number which divides 27 and 45 exactly.
Find the lowest number which when divided by 8 and 9 leaves 3 as remainder in each case.
Find the highest number which divides 80 and 60 exactly.

Find the highest number by which 101 and 137 can be divided so as to leave the remainder 5in
each case.

Find the lowest number which whenincreased by 3 isdivisibleby 12,16 and 18.

Find the lowest number which is exactly divisible by 11and 17.

Tick (V') the correct answer. Gap Analyzer™
Take a Test

(a) 1,2,4,5,10and 20 are the factor of

(i) 25 [j (i) 30 C] (iii) 10 D (iv) 20 D

(b) The smallest composite number that can be written as a product of 4 different prime
numberis

(i) 120 ] (i) 210 | i) 240 [ | (iv) 180 [ ]

(c) 3x3x3x3x3x2isthe primefactorization of

(i) 684 ] i) 486 ] iy ess [ v 624 [ ]

Match the following:

Column'A’ Column'B"

(a) 2x2x2x3x3x%x5 (i) 180

(b) 2x2x2x3x5x%x5 (i) 360

() 2x2x3x3x5 (iii) 900

(d) 2x3%x3%x5x5 (iV) 600 *Custom Learning Path
Scan to Create ‘E s [m]
Y e ]

e) 2x2x3x3x5x5 ' 450 Lea?‘:;ncg)v;:th = iy

(e) (v)

@



Conceptual Learning

Findthe HCF and LCM.

1. 2. @ 3. @
e VS

Mental Math

Tick the correct option:

1. LCMofl10and25is: (a)250 (b) 50 (c)100 (d)200
2. HCFofl0and25is: (a)10 (b) 50 (c)5 (d)15
3. LCMofl0and21lis: (a)l (b) 105 (c)210 (d)120
4. HCFoflO0and21lis: (a)l (b) 105 (c)210 (d)120

.........................................................................

“_ Fun Time Activity /

The numbers given in the cloud should be placed in the circles given below. The 108 96
numbers that are divisible by both 2 and 9 should be placed in the overlapping 180 162

i 126
region. 25

144 220
117" 176

Divisible by  Divisible by
2 9

Collaboration

i_ Maths Lab Activity

Material required:

Square-lined paper and bindis of three colours

Procedure:

1. Workingroups of three students each.




2. Make a pattern of bindis. The pattern should consist of 3 layers. The lowest layer should
have a block of 4 red bindis. The second layer should have a block of 3 green bindis. The
top layer should have a block of 2 blue bindis.

3. Take turns to paste blocks of bindis to make the pattern of the shortest length possible
with no bindijutting out.

4. The patternshouldlook like this after the first round.

5. Continue pasting the bindis and record the length of the pattern. Discuss with your

teacher.

Critical Thinking

In the neighbourhood of Balvidya Public School, there is a garment factory and a church. The
school bell rings after every 40 minutes.

The factory siren gives out a ringing sound after every 50 minutes. The Church bell rings after
every hour. If the bells and factory siren ring together at 8 a.m. What will be time when they
go off together the second time.






